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3rd-order Runge-Kutta:

y' = f(ty)

Yn+1 = Yn + (K1+4K2+K3)/6

Ki= f(tn,yn)

Kz = f(tn+h/2,yn+(h/2)K1)

Kz = f(th+1,yn-hK1+2hK?>)

When f = {(t), this turns out to be Simpson's quadrature rule.
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Typewriter
3rd-order Runge-Kutta:
y' = f(t,y)
yn+1 = yn + (K1+4K2+K3)/6
K1 = f(tn,yn)
K2 = f(tn+h/2,yn+(h/2)K1)
K3 = f(tn+1,yn-hK1+2hK2)
When f = f(t), this turns out to be Simpson's quadrature rule.
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